Oak Park School District 97 Custodial Supply Information For 2017-2018

_				1 = -						_						1	
Item	Quantity	Buckeye	Total	Caselots	Total	Chemcraft	Total	NA Paper	Total	Seaway	Total	Valdes	Total	Whse Direct	Total	W/L Supply	Total
Group # 1					<b>*** * * * * * * * * *</b>			<b></b>						442.00			
Large Waste Liners; 40x46, 1.5MIL, 100/cs	800	\$14.82	\$11,856.00		. ,	\$17.45	. ,	\$18.70	. ,		\$13,560.00	\$14.00	\$11,200.00		\$11,120.00		\$11,800.00
Medium Waste Liners; 33x39, .9MIL, 250/cs		\$23.68	\$9,472.00		\$7,980.00	\$20.15	\$8,060.00	\$13.66	\$5,464.00	\$19.80	\$7,920.00	\$13.75	\$5,500.00		\$4,884.00	\$17.60	4 . ,
Small Waste Liners; 24x32, .5MIL, 500/cs	250	\$22.90	\$5,725.00		\$3,437.50	\$13.35	,	\$16.45	\$4,112.50		\$3,412.50	\$15.00	\$3,750.00		\$2,747.50	\$17.45	. ,
Compostable Green bags; 40x46 250/cs	100		\$0.00		\$1,995.00	\$19.90		\$74.90	\$7,490.00		\$1,965.00	\$33.50	\$3,350.00		\$4,299.00		\$12,567.00
Recycle Marker Blue bags; 40x46 250/cs	100	\$23.25	\$2,325.00	\$29.95	\$2,995.00	\$23.65	\$2,365.00	\$23.15	\$2,315.00	\$34.60	\$3,460.00	\$33.50	\$3,350.00	\$29.99	\$2,999.00	\$39.89	\$3,989.00
Group # 2																	
Floor Finish; 5 gal pail/box	350	\$57.99	\$20,296.50	\$54.90	\$19,215.00	\$62.25	\$21,787.50	\$57.27	\$20,044.50	\$54.00	\$18,900.00	\$40.00	\$14,000.00	\$45.20	\$15,820.00		\$0.00
Floor Stripper; 5 gal pail/box	50	\$43.50	\$2,175.00		. ,	\$53.00		\$44.74	\$2,237.00	\$49.80	\$2,490.00	\$30.00	\$1,500.00		\$1,444.50		\$0.00
Polyurethane Floor Finish; 5 gal pail	12	\$199.00	\$2,388.00		\$959.40	\$169.00	\$2,028.00	\$310.00	\$3,720.00	\$279.00	\$3,348.00	\$90.00	\$1,080.00		\$1,728.00		\$0.00
Poly applicator system; bar, handle, pad (1ea)	5	\$39.77	\$198.85		\$0.00	\$40.00	\$200.00	ψ510.00	\$0.00	\$390.00	\$1,950.00	\$38.00	\$190.00		\$99.95		\$0.00
Replacement applicator pads	5	\$9.77	\$48.85		\$0.00	\$9.00	\$45.00	\$34.53	\$172.65		\$132.50	\$3.75	\$18.75		\$66.25		\$0.00
respiecement approacor pads		Ψ2.77	Ψ10.02		Ψ0.00	Ψ2.00	Ψ12.00	ψ3 1.33	Φ172.03	Ψ20.50	ψ13 <b>2</b> .30	ψ3.75	Ψ10.75	Ψ13.23	Ψ00.23		Ψ0.00
Group # 3																	
AA Battery, ea (alkaline only)	400	\$0.32	\$128.00	\$0.41	\$164.00	\$0.34	\$136.00	\$0.24	\$96.00	\$0.30	\$120.00	\$0.30	\$120.00	\$0.22	\$88.00		\$0.00
AAA Battery, ea (alkaline only)	400	\$0.33	\$132.00		\$148.00	\$0.31	\$124.00	\$0.24	\$96.00	\$0.29	\$116.00	\$0.31	\$124.00		\$88.00		\$0.00
PV6 vacuum bags 10/pkg + filters	30	*	\$0.00	\$69.90	\$2,097.00	\$14.00	\$420.00	\$6.74	\$202.20	\$9.75	\$292.50	*	\$0.00	\$11.99	\$359.70		\$0.00
CV38 vacuum bags 10/pkg + filters	40		\$0.00		\$3,061.20	\$29.35	\$1,174.00	\$9.26	\$370.40		\$864.00		\$0.00		\$698.00		\$0.00
TV2 vacuum bags 10/pkg + filters	30		\$0.00		\$0.00	\$28.30	\$849.00	\$15.50	\$465.00		\$592.50		\$0.00	*	\$717.30		\$0.00
1 + 2 + www.mi euge 1 o/ ping - more			ψο.σσ		Ψ0.00	Ψ20.50	\$0.5.00	\$10.00	Ψ.σε.σσ	Ψ17.70	ψε, 2.0 σ		Ψ0.00	<b>\$25.91</b>	Ψ,1,.00		Ψ0.00
Group # 4																	
X-Large Vinyl Gloves, 10pk/cs, 100	50	\$19.80	\$990.00	\$24.00	\$1,200.00	\$26.50	\$1,325.00	\$27.30	\$1,365.00	\$23.60	\$1,180.00	\$19.10	\$955.00	\$20.25	\$1,012.50	\$21.05	\$1,052.50
Large Vinyl Gloves, 10pk/cs, 100	40	\$19.80	\$792.00	\$24.00	\$960.00	\$26.50	\$1,060.00	\$27.30	\$1,092.00	\$23.60	\$944.00	\$19.10	\$764.00	\$20.25	\$810.00	\$21.05	\$842.00
MediumVinyl Gloves, 10pk/cs, 100	20	\$19.80	\$396.00	\$24.00	\$480.00	\$26.50	\$530.00	\$27.30	\$546.00	\$23.60	\$472.00	\$19.10	\$382.00	\$20.25	\$405.00	\$21.05	\$421.00
XL "Rubber" gloves, 1pr	30	\$0.79	\$23.70		\$0.00	\$0.65	\$19.50	\$7.91	\$237.30		\$268.50	\$0.46	\$13.80		\$13.80		\$0.00
L "Rubber" gloves, 1pr	20	\$0.79	\$15.80		\$0.00	\$0.65	\$13.00	\$7.91	\$158.20		\$179.00	\$0.46	\$9.20	\$0.46	\$9.20		\$0.00
M "Rubber" gloves, 1pr	10	\$0.79	\$7.90		\$0.00	\$0.65	\$6.50	\$7.91	\$79.10	\$8.95	\$89.50	\$0.46	\$4.60	\$0.46	\$4.60		\$0.00
S "Rubber" gloves, 1pr	10	\$0.79	\$7.90		\$0.00	\$0.85	\$8.50	\$7.91	\$79.10	\$8.95	\$89.50	\$0.46	\$4.60	\$0.46	\$4.60		\$0.00
XL Canvas work gloves, 1pr	50	\$0.85	\$42.50	\$10.90	\$545.00	\$0.85	\$42.50	\$16.70	\$835.00		\$525.00	\$0.42	\$21.00	\$0.48	\$24.00		\$705.00
L Canvas work gloves, 1pr	20	\$0.85	\$17.00		\$218.00	\$0.85	\$17.00	\$16.70	\$334.00	\$10.50	\$210.00	\$0.42	\$8.40		\$8.40	\$14.10	\$282.00
M/S Canvas work gloves, 1pr	10	\$0.85	\$8.50	\$10.90	\$109.00	\$0.85	\$8.50	\$16.70	\$167.00	\$10.50	\$105.00	\$0.42	\$4.20	\$0.45	\$4.50	\$14.10	\$141.00
Group # 5																	
Peroxide Surface Cleaner (marauder)	80	\$82.08	\$6,566.40	\$16.95	\$1,356.00	\$57.66	\$4,612.80	\$25.52	\$2,041.60	\$60.00	\$4,800.00	\$45.00	\$3,600.00	\$49.99	\$3,999.20		\$0.00
Disinfectant Surface Cleaner (lemon quat)	80	\$64.98	\$5,198.40		\$2,880.00	\$67.35	\$5,388.00	\$31.73	\$2,538.40	\$8.40	\$672.00	\$30.00	\$2,400.00		\$2,559.20		\$0.00
Floor Cleaner (true 7)	60	\$49.44	\$2,966.40		\$1,440.00	\$49.25	\$2,955.00	\$55.31	\$3,318.60		\$417.00	\$20.00	\$1,200.00		\$1,799.40		\$0.00
Floor Scrubber (tenacity)	80	\$55.56	\$4,444.80		\$2,040.00	\$54.25		\$37.84	\$3,027.20		\$720.00	\$38.00	\$3,040.00		\$3,199.20		\$0.00
Glass Cleaner (star spray)	20	\$85.98	\$1,719.60		\$420.00	\$53.76		\$25.52	\$5,027.20		\$1,080.00	\$20.00	\$400.00		\$799.80		\$0.00
Carpet Prespray, (H2O base - 6/1qt RTU per	-	\$66.56	\$665.60		\$340.00	\$74.55	\$745.50	\$23.32	\$229.80		\$300.00	\$20.00	\$200.00		\$104.40		\$0.00
Carpet Extraction (jet stream)	10 10	\$88.20	\$882.00		\$290.00	\$60.73	\$607.30	\$53.29	\$532.90		\$84.00	\$30.00	\$300.00		\$299.90		\$0.00
Clorox Green Works Wipes, 62-6/cs, # 30380	-	\$28.10	\$5,620.00		\$290.00	\$29.35	\$5,870.00	\$33.29	\$4,810.00	\$28.00	\$5,600.00	\$21.50	\$4,300.00		\$299.90	\$28.05	· ·
Toilet Bowl Cleaner Soy Based; 6qt/cs	50	\$20.10	\$3,020.00		\$5,700.00	\$42.25		\$24.03	\$1,028.00		\$3,000.00	\$18.00	\$4,300.00		\$5,272.00	\$20.03	\$3,610.00
Tonce bowl Cicalici boy based, oques	30		\$0.00	\$19.90	\$ <b>773.00</b>	\$42.23	\$4,114.30	\$20.30	\$1,028.00		\$0.00	\$10.00	\$700.00	\$13.08	\$094.00		\$0.00

Oak Park School District 97 Custodial Supply Information For 2017-2018

Item	Ouantity	Buckeye	Total	Caselots	Total	Chemcraft	Total	NA Paper	Total	Seaway	Total	Valdes	Total	Whse Direct	Total	W/L Supply	Total
Spartan Bio-renewables; 12qt/cs #3530-03	40	Вискеус	\$0.00	Cuscious	\$0.00	\$45.15		\$41.68	\$1,667.20	\$34.60		v aracs	\$0.00	\$26.99	\$1,079.60	W/E Supply	\$0.00
Foaming Luxury Hand Soap (GoJo 5165)	400	\$17.81	\$7,124.00	\$21.95	\$8,780.00	\$23.50	\$9,400.00	\$155.60	\$62,240.00	\$42.80	\$17,120.00	\$38.00		\$19.23	\$7,692.00	\$46.51	\$18,604.00
Alcohol Free hand sanitizer; 8-12oz, 12/cs	100	\$81.24	\$8,124.00	\$24.90	\$2,490.00	\$82.88	\$8,288.00	\$218.16		\$44.65	\$4,465.00	\$30.00	\$3,000.00	\$62.82	\$6,282.00	Ψ10.51	\$0.00
Vomitus Cleanup powder; 6/cs	50	\$27.60	\$1,380.00	\$32.50	\$1,625.00	\$37.90	,	\$32.00	\$1,600.00	\$33.60	\$1,680.00	\$30.00	\$1,500.00	\$27.99	\$1,399.50		\$0.00
volintas estantap perivates, or es		Ψ=7.00	Ψ1,500.00	Ψ2.00	\$1,020.00	ψ57.50	\$1,000.00	\$22.00	\$1,000.00	φ22.00	\$1,000.00	Ψ20.00	φ1,εσσ.σσ	<b>\$-</b> 7.55	Ψ1,555.00		Ψ0.00
Group # 6																	
Spray trigger for 32oz bottle	100	\$0.49	\$49.00	\$0.46	\$46.00	\$0.66	\$66.00	\$0.35	\$35.00	\$0.54	\$54.00	\$0.45	\$45.00	\$0.41	\$41.00	\$0.48	\$48.00
32oz Spray Bottle	100	\$0.87	\$87.00	\$0.81	\$81.00	\$0.80	\$80.00	\$0.41	\$41.00	\$0.53	\$53.00	\$0.60	\$60.00	\$0.57	\$57.00	\$0.50	\$50.00
Extendable handle Lambswool Duster	50	\$6.90	\$345.00	\$9.90	\$495.00	\$8.00	\$400.00	\$4.75	\$237.50	\$7.95	\$397.50	\$5.50	\$275.00	\$5.70	\$285.00		\$0.00
Replacement heads for duster	100		\$0.00	\$11.47	\$1,147.00		\$0.00		\$0.00		\$0.00	\$3.00	\$300.00	\$3.99	\$399.00		\$0.00
Value-Plus Cone Bowl Mop, # UNS170	50	\$1.50	\$75.00	\$1.50	\$75.00	\$1.50	\$75.00	\$1.14	\$57.00	\$0.90	\$45.00	\$1.25	\$62.50	\$0.85	\$42.50		\$0.00
1 1/2" stiff putty knife w/ blade edge	100	\$2.80	\$280.00	\$2.99	\$299.00	\$1.50	\$150.00	\$1.71	\$171.00	\$2.40	\$240.00	\$1.30	\$130.00	\$1.06	\$106.00		\$0.00
Upright Angle Broom w/nylon bristle	50	\$5.25	\$262.50	\$6.21	\$310.50	\$6.25	\$312.50	\$4.62	\$231.00	\$5.25	\$262.50	\$4.95	\$247.50	\$4.94	\$247.00		\$0.00
Lobby type dust pan	20	\$7.75	\$155.00	\$14.00	\$280.00	\$14.00	\$280.00	\$7.38	\$147.60	\$8.90	\$178.00	\$8.00	\$160.00	\$7.39	\$147.80		\$0.00
Urinal Screens 10/cs	50	\$8.88	\$444.00	\$1.12	\$56.00	\$16.40	\$820.00	\$15.95	\$797.50	\$18.60	\$930.00	\$13.50	\$675.00	\$8.00	\$400.00		\$0.00
Synthetic loop end finish mops	36	\$5.50	\$198.00	\$8.29	\$298.44	\$11.00	\$396.00	\$91.53	\$3,295.08	\$5.75	\$207.00	\$4.95	\$178.20	\$4.15	\$149.40		\$0.00
18" Applicator finish mop	20	\$4.90	\$98.00	\$13.00	\$260.00	\$21.50	\$430.00	\$80.45	\$1,609.00	\$15.75	\$315.00	\$12.00	\$240.00	\$2.99	\$59.80		\$0.00
Barrel Caddy Bag	20	\$24.00	\$480.00	\$39.50	\$790.00	\$43.00	\$860.00	\$28.37	\$567.40	\$27.90	\$558.00	\$40.00	\$800.00	\$26.57	\$531.40		\$0.00
Rubbermaid Applicator system (Complete)	10	\$229.00	\$2,290.00		\$0.00	\$205.00	\$2,050.00	\$264.23	\$2,642.30	\$195.00	\$1,950.00	\$275.00	\$2,750.00	\$275.00	\$2,750.00		\$0.00
Group # 7																	
Roll Paper Towels; 7 1/2x800, 6/cs,	600	\$18.80	\$11,280.00	\$19.00	\$11,400.00	\$17.04	\$10,224.00	\$17.52	\$10,512.00	¢10.65	\$11,790.00	\$14.25	\$8,550.00	\$15.99	\$9,594.00	¢17.55	\$10,530.00
Toilet Tissue; 4.5x4.5, 2ply, 96/cs	400	\$30.50	\$12,200.00		\$11,400.00		\$10,224.00	\$17.32	,		\$15,040.00	\$27.10	,		\$11,500.00		\$10,330.00
Tollet Hssue, 4.3x4.3, 2pty, 90/cs	400	\$30.30	\$12,200.00	\$27.90	\$11,100.00	\$33.32	\$14,200.00	\$30.03	\$12,020.00	\$57.00	\$13,040.00	\$27.10	\$10,640.00	\$20.73	\$11,500.00	\$27.09	\$11,150.00
Group # 8																	
Natural Burnishing Pad, 5cs, #3500	100	\$13.50	\$1,350.00	\$18.00	\$1,800.00	\$30.00	\$3,000.00	\$13.35	\$1,335.00	\$14.40	\$1,440.00	\$21.00	\$2,100.00	\$12.55	\$1,255.00		\$0.00
20" Black Stripper Pad, 5cs #7200	100	\$13.50	\$1,350.00	\$18.00	\$1,800.00	\$26.90	\$2,690.00	\$13.08	\$1,308.00	\$13.90	\$1,390.00	\$21.00	\$2,100.00	\$12.55	\$1,255.00		\$0.00
16" Red Buffer Pad, 5cs, # 5100	20	\$9.50	\$190.00	\$15.00	\$300.00	\$18.25	\$365.00	\$9.37	\$187.40	\$10.55	\$211.00	\$15.00	\$300.00	\$9.98	\$199.60		\$0.00
16" White Polish Pad, 5cs, #4100	20	\$9.50	\$190.00	\$15.00	\$300.00	\$18.25	\$365.00	\$9.37	\$187.40	\$10.55	\$211.00	\$15.00	\$300.00	\$8.98	\$179.60		\$0.00
13" Red Buffer Pad, 5cs, #5100	10	\$7.25	\$72.50	\$11.40	\$114.00	\$13.75	\$137.50	\$6.87	\$68.70	\$8.60	\$86.00	\$12.00	\$120.00	\$6.63	\$66.30		\$0.00
13" White Polish Pad, 5cs, #4100	10	\$7.25	\$72.50	\$11.40	\$114.00	\$13.75	\$137.50	\$6.87	\$68.70	\$8.60	\$86.00	\$12.00	\$120.00	\$6.63	\$66.30		\$0.00
Doodlebug pad holders	20	\$2.60	\$52.00	\$69.90	\$1,398.00	\$15.10	\$302.00	\$4.40	\$88.00	\$7.50	\$150.00	\$10.00	\$200.00	\$4.22	\$84.40		\$0.00
Doodlebug Scrub 'n Strip Pad, each # 6472	200	\$0.61	\$122.00	\$38.10	\$7,620.00	\$1.55	\$310.00	\$0.67	\$134.00	\$14.80	\$2,960.00	\$0.85	\$170.00		\$118.00		\$0.00
Doodlebug Deck Brush	20	\$8.50	\$170.00		\$0.00	\$40.00	\$800.00	\$0.67	\$13.40	\$15.75	\$315.00	\$4.65	\$93.00		\$94.60		\$0.00
Scotch-Brite Heavy Duty Scrub Sponge, 20/cs	50	\$15.25	\$762.50	\$6.50	\$325.00	\$32.85	\$1,642.50	\$3.18	\$159.00	\$13.40	\$670.00	\$25.50	\$1,275.00	\$12.49	\$624.50		\$0.00
20" Sand Screen 80 Grit 10/cs	40	\$53.60	\$2,144.00	\$59.95	\$2,398.00	\$63.80	\$2,552.00	\$108.82	\$4,352.80	\$52.65	\$2,106.00	\$57.00	\$2,280.00	\$54.99	\$2,199.60		\$0.00
Item	Quantity		total		total		total		total		total		total		total		total
Total			\$136,456.70		\$131,542.04		\$153,904.80		\$212,263.83		\$143,152.50		\$116,760.75		\$117,088.80		\$89,200.00

Oak Pak School District 97																	
Cutodial Supply Information																	
For 2017-2018																	
The second secon	Otit	D1	T-4-1	C1-4-	Т.4.1	Cl 0	Т.4.1	NIA D	Т.4.1	C	T-4-1	X7-1-1	T-4-1	TH D:	Т.4.1	W/I C1	T-4-1
Item	Quantity	Buckeye	Total	Caselots	1 otal	Chemcraft	1 otal	NA Paper	Total	Seaway	Total	Valdes	Total	Whse Direct	1 otal	W/L Supply	Total
Group # 1	000	01402	<b>011.056.00</b>	015.05	#1 <b>0</b> 7 60 00	017.45	Φ12 O CO OO	#10. <b>7</b> 0	#1406000	01605	#1 <b>2</b> 7 60 00	Ø1400	#11 <b>2</b> 00 00	<b>#12.00</b>	#11 1 <b>2</b> 0 00	01475	Φ11 000 00
Large Waste Liners; 40x46, 1.5MIL, 100/cs	800	\$14.82			\$12,760.00		\$13,960.00	\$18.70			\$13,560.00	4	\$11,200.00		\$11,120.00		\$11,800.00
Medium Waste Liners; 33x39, 9MIL, 250/cs	400	\$23.68		\$19.95		\$20.15		\$13.66		\$19.80		\$13.75		\$12.21			\$7,040.00
Small Waste Liners; 24x32, .5MIL, 500/cs	250	\$22.90		\$13.75		\$13.35		\$16.45		\$13.65		\$15.00		\$10.99			\$4,362.50
Compostable Green bags; 40x46 250/cs	100	<b>#22.25</b>	\$0.00	\$19.95		\$19.90		\$74.90	\$7,490.00	\$19.65		\$33.50		\$42.99			\$12,567.00
Recycle Marker Blue bags; 40x46 250/cs	100	\$23.25	\$2,325.00	\$29.95	\$2,995.00	\$23.65	\$2,365.00	\$23.15	\$2,315.00	\$34.60	\$3,460.00	\$33.50	\$3,350.00	\$29.99	\$2,999.00	\$39.89	\$3,989.00
Group # 2																	
Floor Finish; 5 gal pail/box	350	\$57.99	\$20,296.50	\$54.90	\$19,215.00	\$62.25	\$21,787.50	\$57.27	\$20,044.50	\$54.00	\$18,900.00	\$40.00	\$14,000.00	\$45.20	\$15,820.00		\$0.00
Floor Stripper; 5 gal pail/box	50	\$43.50		\$39.90		\$53.00		\$44.74		\$49.80		\$30.00		\$28.89			\$0.00
Polyurethane Floor Finish; 5 gal pail	12	\$199.00		\$79.95		\$169.00		\$310.00		\$279.00		\$90.00		\$144.00			\$0.00
Poly applicator system; bar, handle, pad (1ea)	5	\$39.77	\$198.85	4,7.70	\$0.00	\$40.00		\$310.00	\$0.00	\$390.00		\$38.00		\$19.99			\$0.00
Replacement applicator pads	5	\$9.77	\$48.85		\$0.00	\$9.00	,	\$34.53	\$172.65	\$26.50				\$13.25			\$0.00
		••••				••••											
Group # 3																	
AA Battery, ea (alkaline only)	400	\$0.32	\$128.00	\$0.41	\$164.00	\$0.34	\$136.00	\$0.24	\$96.00	\$0.30	\$120.00			\$0.22	\$88.00		\$0.00
AAA Battery, ea (alkaline only)	400	\$0.33		\$0.37	\$148.00	\$0.31	\$124.00	\$0.24	\$96.00	\$0.29	\$116.00	\$0.31	\$124.00	\$0.22	\$88.00		\$0.00
PV6 vacuum bags 10/pkg + filters	30		\$0.00	\$69.90		\$14.00	\$420.00	\$6.74	\$202.20	\$9.75	\$292.50		\$0.00	\$11.99	\$359.70		\$0.00
CV38 vacuum bags 10/pkg + filters	40		\$0.00	\$76.53	\$3,061.20	\$29.35		\$9.26	\$370.40	\$21.60			\$0.00	\$17.45			\$0.00
TV2 vacuum bags 10/pkg + filters	30		\$0.00		\$0.00	\$28.30	\$849.00	\$15.50	\$465.00	\$19.75	\$592.50		\$0.00	\$23.91	\$717.30		\$0.00
Group # 4																	
X-Large Vinyl Gloves, 10pk/cs, 100	50	\$19.80	\$990.00	\$24.00	\$1,200.00	\$26.50	\$1,325.00	\$27.30	\$1,365.00	\$23.60	\$1,180.00	\$19.10	\$955.00	\$20.25	\$1,012.50	\$21.05	\$1,052.50
Large Vinyl Gloves, 10pk/cs, 100	40	\$19.80	\$792.00	\$24.00		\$26.50		\$27.30	\$1,092.00	\$23.60		\$19.10		\$20.25		\$21.05	
MediumVinyl Gloves, 10pk/cs, 100	20	\$19.80		\$24.00		\$26.50	\$530.00	\$27.30	\$546.00	\$23.60		\$19.10		\$20.25	\$405.00	\$21.05	
XL "Rubber" gloves, 1pr	30	\$0.79		Ψ24.00	\$0.00	\$0.65	\$19.50	\$7.91	\$237.30	\$8.95	\$268.50	4		\$0.46		Ψ21.03	\$0.00
L "Rubber" gloves, 1pr	20	\$0.79			\$0.00	\$0.65		\$7.91	\$158.20	\$8.95	\$179.00	\$0.46		\$0.46			\$0.00
M "Rubber" gloves, 1pr	10	\$0.79			\$0.00	\$0.65		\$7.91	\$79.10	\$8.95		•		\$0.46			\$0.00
S "Rubber" gloves, 1pr	10	\$0.79			\$0.00	\$0.85		\$7.91	\$79.10	\$8.95	\$89.50	\$0.46	·	\$0.46			\$0.00
XL Canvas work gloves, 1pr	50	\$0.85		\$10.90	\$545.00	\$0.85		\$16.70	\$835.00	\$10.50		\$0.42	,	\$0.48	\$24.00	\$14.10	
L Canvas work gloves, 1pr	20	\$0.85		\$10.90	\$218.00	\$0.85			\$334.00	\$10.50		\$0.42		\$0.42		\$14.10	
M/S Canvas work gloves, 1pr	10	\$0.85		\$10.90	\$109.00	\$0.85		\$16.70	\$167.00	\$10.50		\$0.42		\$0.45		\$14.10	
Group # 5													2.2				
Peroxide Surface Cleaner (marauder)	80	\$82.08	\$6,566.40	\$16.95		\$57.66		\$25.52		\$60.00		\$45.00		\$49.99			\$0.00
Disinfectant Surface Cleaner (lemon quat)	80	\$64.98				\$67.35		\$31.73		\$8.40		\$30.00		\$31.99			\$0.00
Floor Cleaner (true 7)	60	\$49.44				\$49.25		\$55.31	\$3,318.60	\$6.95			\$1,200.00	\$29.99			\$0.00
Floor Scrubber (tenacity)	80	\$55.56		\$25.50				\$37.84		\$9.00				\$39.99			\$0.00
Glass Cleaner (star spray)	20	\$85.98		\$21.00					\$510.40	\$54.00				\$39.99			\$0.00
Carpet Prespray, (H2O base - 6/1qt RTU per)		\$66.56		\$34.00		\$74.55			\$229.80	\$30.00				\$10.44			\$0.00
Carpet Extraction (jet stream)	10	\$88.20		\$29.00	\$290.00			\$53.29	\$532.90	\$8.40				\$29.99		<b>^-</b>	\$0.00
Clorox Green Works Wipes, 62-6/cs, # 30380		\$28.10		\$28.50			\$5,870.00	\$24.05		\$28.00		\$21.50		\$26.36		\$28.05	\$5,610.00
Toliet Bowl Cleaner Soy Based; 6qt/cs	50		\$0.00	\$19.90			\$2,112.50			00160	\$0.00			\$13.88			\$0.00
Spartan Bio-renewables; 12qt/cs #3530-03	40		\$0.00		\$0.00	\$45.15	\$1,806.00	\$41.68	\$1,667.20	\$34.60	\$1,384.00		\$0.00	\$26.99	\$1,079.60		\$0.00

Foaming Luxury Hand Soap (GoJo 5165)	400	\$17.81	\$7,124.00	\$21.95	\$8,780.00	\$23.50	\$9,400.00	\$155.60	\$62,240.00		\$17,120.00	\$38.00			7,692.00	\$46.51 \$18,604.00
Alcohol Free hand sanitizer; 8-12oz, 12/cs	100	\$81.24	\$8,124.00	\$24.90	\$2,490.00	\$82.88	\$8,288.00	\$218.16	\$21,816.00	\$44.65		\$30.00			6,282.00	\$0.00
Vomitus Cleanup powder; 6/cs	50	\$27.60	\$1,380.00	\$32.50	\$1,625.00	\$37.90	\$1,895.00	\$32.00	\$1,600.00	\$33.60	\$1,680.00	\$30.00	\$1,500.00	\$27.99 \$	1,399.50	\$0.00
Group # 6																
Spray trigger for 32oz bottle	100	\$0.49	\$49.00	\$0.46	\$46.00	\$0.66	\$66.00	\$0.35	\$35.00	\$0.54	\$54.00	\$0.45	\$45.00	\$0.41	\$41.00	\$0.48 \$48.00
32oz Spray Bottle	100	\$0.87	\$87.00	\$0.81	\$81.00	\$0.80	\$80.00	\$0.41	\$41.00	\$0.53	\$53.00	\$0.60	\$60.00	\$0.57	\$57.00	\$0.50 \$50.00
Extendable handle Lambswool Duster	50	\$6.90	\$345.00	\$9.90	\$495.00	\$8.00	\$400.00	\$4.75	\$237.50	\$7.95	\$397.50	\$5.50	\$275.00	\$5.70	\$285.00	\$0.00
Replacement heads for duster	100		\$0.00	\$11.47	\$1,147.00		\$0.00		\$0.00		\$0.00	\$3.00	\$300.00	\$3.99	\$399.00	\$0.00
Value-Plus Cone Bowl Mop, # UNS170	50	\$1.50	\$75.00	\$1.50	\$75.00	\$1.50	\$75.00	\$1.14	\$57.00	\$0.90	\$45.00	\$1.25	\$62.50	\$0.85	\$42.50	\$0.00
1 1/2" stiff putty knife w/ blade edge	100	\$2.80	\$280.00	\$2.99	\$299.00	\$1.50	\$150.00	\$1.71	\$171.00	\$2.40	\$240.00	\$1.30	\$130.00	\$1.06	\$106.00	\$0.00
Upright Angle Broom w/nylon bristle	50	\$5.25	\$262.50	\$6.21	\$310.50	\$6.25	\$312.50	\$4.62	\$231.00	\$5.25	\$262.50	\$4.95	\$247.50	\$4.94	\$247.00	\$0.00
Lobby type dust pan	20	\$7.75	\$155.00	\$14.00	\$280.00	\$14.00	\$280.00	\$7.38	\$147.60	\$8.90	\$178.00	\$8.00	\$160.00	\$7.39	\$147.80	\$0.00
Urinal Screens 10/cs	50	\$8.88	\$444.00	\$1.12	\$56.00	\$16.40	\$820.00	\$15.95	\$797.50	\$18.60	\$930.00	\$13.50	\$675.00	\$8.00	\$400.00	\$0.00
Synthetic loop end finish mops	36	\$5.50	\$198.00	\$8.29	\$298.44	\$11.00	\$396.00	\$91.53	\$3,295.08	\$5.75	\$207.00	\$4.95	\$178.20	\$4.15	\$149.40	\$0.00
18" Applicator finish mop	20	\$4.90	\$98.00	\$13.00	\$260.00	\$21.50	\$430.00	\$80.45	\$1,609.00	\$15.75	\$315.00	\$12.00	\$240.00	\$2.99	\$59.80	\$0.00
Barrel Caddy Bag	20	\$24.00	\$480.00	\$39.50	\$790.00	\$43.00	\$860.00	\$28.37	\$567.40	\$27.90	\$558.00	\$40.00	\$800.00	\$26.57	\$531.40	\$0.00
Rubbermaid Applicator system (Complete)	10	\$229.00	\$2,290.00		\$0.00	\$205.00	\$2,050.00	\$264.23	\$2,642.30	\$195.00	\$1,950.00	\$275.00	\$2,750.00	\$275.00 \$2	2,750.00	\$0.00
Group # 7																
Roll Paper Towels; 7 1/2x800, 6/cs,	600	\$18.80	\$11,280.00	\$19.00	\$11,400.00	\$17.04	\$10,224.00	\$17.52	\$10,512.00	\$19.65	\$11,790.00	\$14.25	\$8,550.00	\$15.99	9,594.00	\$17.55 \$10,530.00
Toliet Tissue; 4.5x4.5, 2ply, 96/cs	400	\$30.50	\$12,200.00	\$27.90	\$11,160.00	\$35.52	\$14,208.00	\$30.05	\$12,020.00	\$37.60	\$15,040.00	\$27.10	\$10,840.00	\$28.75 \$1	1,500.00	\$27.89 \$11,156.00
Group # 8																
Natural Burnishing Pad, 5cs, #3500	100	\$13.50	\$1,350.00	\$18.00	\$1,800.00	\$30.00	\$3,000.00	\$13.35	\$1,335.00	\$14.40	\$1,440.00	\$21.00	\$2,100.00	\$12.55 \$	1,255.00	\$0.00
20" Black Stripper Pad, 5cs #7200	100	\$13.50	\$1,350.00	\$18.00	\$1,800.00	\$26.90	\$2,690.00	\$13.08	\$1,308.00	\$13.90	\$1,390.00	\$21.00	\$2,100.00	\$12.55 \$	1,255.00	\$0.00
16" Red Buffer Pad, 5cs, # 5100	20	\$9.50	\$190.00	\$15.00	\$300.00	\$18.25	\$365.00	\$9.37	\$187.40	\$10.55	*******************************	\$15.00	\$300.00	\$9.98	\$199.60	\$0.00
16" White Polish Pad, 5cs, #4100	20	\$9.50	\$190.00	\$15.00	\$300.00	\$18.25	\$365.00	\$9.37	\$187.40	\$10.55	\$211.00	\$15.00	\$300.00	\$8.98	\$179.60	\$0.00
13" Red Buffer Pad, 5cs, #5100	10	\$7.25	\$72.50	\$11.40	\$114.00	\$13.75	\$137.50	\$6.87	\$68.70	\$8.60	\$86.00	\$12.00	\$120.00	\$6.63	\$66.30	\$0.00
13" White Polish Pad, 5cs, #4100	10	\$7.25	\$72.50	\$11.40	\$114.00	\$13.75	\$137.50	\$6.87	\$68.70	\$8.60	\$86.00	\$12.00	\$120.00	\$6.63	\$66.30	\$0.00
Doodlebug pad holders	20	\$2.60	\$52.00	\$69.90		\$15.10	\$302.00	\$4.40	\$88.00	\$7.50		\$10.00	\$200.00	\$4.22	\$84.40	\$0.00
Doodlebug Scrub 'n Strip Pad, each # 6472	200	\$0.61	\$122.00	\$38.10		\$1.55	\$310.00	\$0.67	\$134.00	\$14.80		\$0.85	\$170.00		\$118.00	\$0.00
Doodlebug Deck Brush	20	\$8.50	\$170.00		\$0.00	\$40.00	\$800.00	\$0.67	\$13.40	\$15.75		\$4.65		\$4.73	\$94.60	\$0.00
Scotch-Brite Heavy Duty Scrub Sponge, 20/cs		\$15.25	\$762.50	\$6.50		\$32.85	\$1,642.50	\$3.18	\$159.00	\$13.40		\$25.50			\$624.50	\$0.00
20" Sand Screen 80 Grit 10/cs	40	\$53.60	\$2,144.00	\$59.95		\$63.80		\$108.82		\$52.65		\$57.00			2,199.60	\$0.00
	Quantity	3.	total		total		total		total		total		total	total		total
Total			\$136,456.70		\$131,542.04		\$153,904.80		\$212,263.83		\$143,152.50		\$116,760.75	\$11	7,088.80	\$89,200.00